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Exploring

The light micrographs show dividing
{ung cells from a news, which has 22
chvomosomes appe blue, microtubes
Green, intermedite flamentsred). For
Simpicity the drawings shows only four
ervomosomes.








INTERPHASE = NON DIVIDING PHASE





         DNA is less condensed as CHROMATIN
                        Cell is “doing its JOB “
	G1- “Gap 1”

Growth occurs
“Restriction” checkpoint most important in mammalian cells
Cyclin-Cdk complexes allow cells to pass checkpoint
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Cells spend most of time in G1 OR G0





G0-


If no signal at G1 checkpoint, cell STOPS dividing





Some cells can return to cycle with external cues �(EX: Liver divides if injured)


�Others never divide once mature (nerve, muscle)








S =  “SYNTHESIS”


DNA is copied





G2- ”Gap 2”


Growth occurs�Cell makes organelles and molecules needed �  for cell division/new cell (EX: Centrosomes)


Cyclin-Cdk complexes allow cells to pass   �      checkpoint
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